Line						Extended
#	Item Description	UOM	Supplier	Qty	Price	Price
••	nom Boodilphon	00	оприно:	٦٠,	1 1100	1 1100
	Evaporative Cooling, Cellulose					
	Paper, 3'2" Height, 4' Thick, 5 Plus					
1	Years Life Expectancy, Cross Fluted			32	NB	NB
	1" x 1" Square Tube Top Bench Brace for 72" Bench, Galvanized					
	Metal, Must Meet Existing Bench					
2	Dimensions			45	NB	NB
	1" x 1" Square Tube Top Bench			-10		145
	Brace for a 60" Bench, Galvanized					
	Metal, Must Meet Existing Bench					
3	Dimensions			36	NB	NB
	Offsite Repairs for Aquamate					
	Portable Watering Tank, Must Use					
	Aquamate Parts (or equal) For					
	Repair, Technician Must Be Trained					
	Repairperson For Aquamate					
4	Products (or equal)			1	NB	NB
	Premium Wand Valve, Wand					
_	Extension Tube 24", Must Be			•	ND	ND
5	Aquamate Parts (or equal) 10" Tropical Plants, Anthurium Miss			2	NB	NB
	June, In Bloom, Pest and Disease					
6	Free			10	NB	NB
					NB	145
	Granular Fertilizer, Slow Release					
	Blended Plant Fertilizer, 13-13-13, 40					
7	lb bag, Carl Pool Brand (or equal)			6	NB	NB
	Granular Fertilizer, Slow Release					
	Blended Plant Fertilizer, 19-13-6, 40					
	Ib bag, Carl Pool Brand Colorscapes			_		
8	Blend (or equal)			8	NB	NB
	Soluble Fertilizer, 15-0-15, 40 lb.					
9	bag, Peters Brand Dark Weather Formula (or equal)			3	NB	NB
9	Forniula (or equal)			<u> </u>	IND	IND
	6.5" Round Azalea Pot, Greenhouse					
	Standard, Color: Green, 504					
10	Pots/Case, Elite Brand (or equal)			4	NB	NB
	Caladium Tuber, Disease Free,					
	Proper Storage Maintained, #2 or					
	Better Grade, Meets Cultivar					
11	Requested			500	NB	MB
	Tulip Bulbs, Disease Free, Proper					
	Storage Maintained, 12/14 cm or					
	Better Grade, Meets Cultivar					
12	Requested			600	NB	NB
	Amaryllis Bulbs, Disease Free,					
	Proper Storage Maintained, 30/32					
13	cm or Better Grade, Meets Cultivar Requested			100	NB	MD
13	nequesteu			100	IND	NB

			1		
14	Rooted Poinsettia Cuttings, Healthy and Disease Free, Fully and Strong Rooted, Cuttings To Match Cultivar Order, Delivered from Source to Door, Shipping Cost Included		2000	NB	NB
15	288 Plug Trays, Health and Disease Free, Fully and Strong Rooted, Proved Winners Brand (or equal), Cuttings to Match Cultivar Order, Delivered from Source to Door, Shipping Cost Included	EASON HORTICULTURAL RESOURCES	70	Yes	<u>-</u>
15	288 Plug Trays, Health and Disease Free, Fully and Strong Rooted, Proved Winners Brand (or equal), Cuttings to Match Cultivar Order, Delivered from Source to Door, Shipping Cost Included	JOLLY FARMER PRODUCT US INC	70	Yes	-
	Carnations, Design Mass Flowers,	PEAKS PIKE OF			
16	25 Stems/Bunch, Assorted Colors	DALLAS	75	\$13.75	\$1,031.25
	Leather Leaf Fern, Mass Foliage, 20-	PEAKS PIKE OF			. ,
17	25 Stems/Bunch	DALLAS	10	\$4.50	\$45.00
18	CDM Florist Mums, Cushion, Daisy, Mixed Mums, Design Flowers, 8 Stems/Bunch, Assorted Colors	PEAKS PIKE OF DALLAS	100	\$4.50	\$450.00
19	"Green Trick" Dianthus, Design Form Flowers, 10 Stems/Bunch	PEAKS PIKE OF DALLAS	20	\$12.50	\$250.00
13	Bells of Ireland, Design Line	PEAKS PIKE OF	20	Ψ12.30	Ψ230.00
20	Flowers, 10 Stems/Bunch	DALLAS	30	\$12.50	\$375.00
21	Spider Mums, Design Mass Flowers, 10 Stems/Bunch, Assorted Colors	PEAKS PIKE OF DALLAS	50	\$8.50	\$425.00
22	Florist Roses, Design Mass Flowers, 25 Stems/Bunch, Assorted Colors	PEAKS PIKE OF DALLAS	25	\$35.00	\$875.00
23	Artificial 6.5" Football Mums, 12/Pack, Color:White	REIDS FLORAL INC DBA SALEPLACE PEAKS PIKE OF	15	\$14.00	\$210.00
		DALLAS	15	\$34.80	\$522.00
24	Football Mum Backings, 6.5", 50/Pack, Color:White/Silver	REIDS FLORAL INC	12	\$6.00	\$72.00
		PEAKS PIKE OF DALLAS	12	\$15.00	\$180.00
	1/2" Floral Stem Wrap, 10 Rolls/Box,	REIDS FLORAL INC			·
25	Color: Green	DBA SALEPLACE	8	\$9.20	\$73.60
	l l	PEAKS PIKE OF			

	Vase, 6" x 3" Ceramic, 6				
26	Vases/Case, Color: Red		6	NB	NB
07	Vase, Glass Bud Vase, Height 9",	PEAKS PIKE OF DALLAS	_	¢45 50	¢227 FA
27	1.5" Opening, Color: Clear, 48/Case 6" Woven Hat Baskets, 100/Case,	PEAKS PIKE OF	5	\$45.50	\$227.50
28	Color: Tan	DALLAS	7	\$300.00	\$2,100.00
20	Oasis Floral Arrangement Wet Foam-	DALLAG	'	Ψ300.00	Ψ2,100.00
	Standard (or equal), 36 Bricks/Box,	PEAKS PIKE OF			
29	Color: Green	DALLAS	5	\$31.95	\$159.75
		REIDS FLORAL INC			
		DBA SALEPLACE	5	\$38.75	\$193.75
	Aqua-Foam Floral Arrangement Wet				
20	Foam (or equal), 48 Bricks/Box,	PEAKS PIKE OF	_	¢20.05	¢404.75
30	Color: Green Floralife DCD	DALLAS	5	\$38.95	\$194.75
	Disinfectant/Cleaner/Deodorizer (or	PEAKS PIKE OF			
31	equal) Floral Cleaner	DALLAS	2	\$15.95	\$31.90
<u> </u>	oqualy i local oleaner	<u>DALLAG</u>		V10.00	ψ01.00
		REIDS FLORAL INC			
32	5" Pull Bows, 50/Box, Color: Red	DBA SALEPLACE	6	\$20.15	\$120.90
		PEAKS PIKE OF			
		DALLAS	6	\$24.95	\$149.70
		REIDS FLORAL INC			
33	5" Pull Bows, 50/Box, Color: White	DBA SALEPLACE	2	\$20.15	\$40.30
		PEAKS PIKE OF		¢24.05	£40.00
		DALLAS	2	\$24.95	\$49.90
		REIDS FLORAL INC			
34	5" Pull Bows, 50/Box, Color: Pink	DBA SALEPLACE	2	\$20.15	\$40.30
		PEAKS PIKE OF		· ·	* 10100
		DALLAS	2	\$24.95	\$49.90
	#9 Satin Ribbon, 100 Yards/Bolt,	REIDS FLORAL INC			
35	Color: White	DBA SALEPLACE	15	\$10.80	\$162.00
		PEAKS PIKE OF	4.5	040.50	4000 50
		DALLAS	15	\$13.50	\$202.50
	#9 Satin Ribbon, 100 Yards/Bolt,	REIDS FLORAL INC			
36	Color: Orange	DBA SALEPLACE	8	\$10.80	\$86.40
- 00	Color: Crango	PEAKS PIKE OF	•	V10.00	ψουτο
		DALLAS	8	\$13.50	\$108.00
	#9 Satin Ribbon, 100 Yards/Bolt,	REIDS FLORAL INC			
37	Color: Forest Green	DBA SALEPLACE	15	\$10.80	\$162.00
		PEAKS PIKE OF			*
		DALLAS	15	\$13.50	\$202.50
	#16 Satin Bibbon, 100 Varda/Balt	DEIDS ELODAL INC			
38	#16 Satin Ribbon, 100 Yards/Bolt, Color: White	REIDS FLORAL INC DBA SALEPLACE	8	\$16.60	\$132.80
50	COIOI. WIIILE	PEAKS PIKE OF	0	φ10.00	ψ132.00
		DALLAS	8	\$19.95	\$159.60

	#16 Satin Ribbon, 100 Yards/Bolt,	REIDS FLORAL INC			
39	Color: Silver	DBA SALEPLACE	5	\$16.60	\$83.00
		PEAKS PIKE OF DALLAS	5	\$19.95	\$99.7
	#5 Satin Ribbon, 100 Yards/Bolt,	REIDS FLORAL INC			
40	Color: White	DBA SALEPLACE PEAKS PIKE OF	15	\$9.00	\$135.0
		DALLAS	15	\$11.50	\$172.5
41	#5 Satin Ribbon, 100 Yards/Bolt, Color: Orange	REIDS FLORAL INC DBA SALEPLACE	8	\$9.00	\$72.0
		PEAKS PIKE OF DALLAS	8	\$11.50	\$92.0
42	#5 Satin Ribbon, 100 Yards/Bolt, Color: Forest Green	REIDS FLORAL INC DBA SALEPLACE	15	\$9.00	\$135.0
		PEAKS PIKE OF DALLAS	15	\$11.50	\$172.5
43	#3 Satin Ribbon, 100 Yards/Bolt, Color: White	REIDS FLORAL INC DBA SALEPLACE	15	\$6.05	\$90.7
		PEAKS PIKE OF DALLAS	15	\$7.95	\$119.2
44	#3 Satin Ribbon, 100 Yards/Bolt, Color: Orange	REIDS FLORAL INC DBA SALEPLACE	8	\$6.05	\$48.4
		PEAKS PIKE OF DALLAS	8	\$7.95	\$63.6
45	#3 Satin Ribbon, 100 Yards/Bolt, Color: Forest Green	REIDS FLORAL INC DBA SALEPLACE	15	\$6.05	\$90.7
		PEAKS PIKE OF DALLAS	15	\$7.95	\$119.2
46	#1.5 Satin Ribbon, 100 Yards/Bolt, Color: White	REIDS FLORAL INC DBA SALEPLACE	15	\$5.65	\$84.7
		PEAKS PIKE OF DALLAS	15	\$7.95	\$119.2
47	#1.5 Satin Ribbon, 100 Yards/Bolt, Color: Orange	REIDS FLORAL INC DBA SALEPLACE	8	\$5.65	\$45.2
		PEAKS PIKE OF DALLAS	8	\$6.95	\$55.6
48	#1.5 Satin Ribbon, 100 Yards/Bolt, Color: Forest Green	REIDS FLORAL INC	15	\$5.65	\$84.7
		PEAKS PIKE OF DALLAS	15	\$6.95	\$104.2